




(12.999)3 = ?

a. 1800

b. 2100

c. 2000

d. 2200

e. 2500



𝟏𝟐𝟑𝟐𝟏

𝟑𝟔.𝟎𝟕
= ?

a. 18.5

b. 20

c. 22

d. 24

e. 20



10303.88 ÷ 55.94 + 62.95 = ?

a. 247

b. 270

c. 300

d. 200

e. 150



50550 ÷ (50 × 5) = ?

a. 150

b. 300

c. 250

d. 200

e. 100



8787÷ 343 × √(𝟓𝟎 )   = ?

a. 250

b. 180

c. 150

d. 200

e. 140



𝟑
𝟓𝟒𝟖𝟐𝟏 × (303÷ 8) = (? )𝟐

a. 48

b. 38

c. 28

d. 18

e. 20



𝟐𝟑% 𝒐𝒇 𝟔𝟕𝟖𝟑 + 𝟓𝟕% 𝒐𝒇 𝟖𝟒𝟑𝟏 = ?

a. 6460

b. 6420

c. 6320

d. 6630

e. 6330



420 × 25%



432 × 25



840 × 125



816 × 625






